Seat No.

1.

Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300015
Subject Name: FUNDEAMENTAL OF MECHANICAL ENGINEERING
Time: 10.30AM TO 12.00PM
Instructions:

Attempt all questions.

Date:8-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. U A4l (Ascul.
Which of the following is permanent joining process?
1. | A. | Soldering B. | Welding
C. | Brazing D. | All of the above
o(lAsttHiell 585 Asal Mol stadl ulsau &2
q. Aes oL aeslol
C. | aoflal D | Guretl st
Which of following has internal thread?
2. | A Bolt B. Stud
C. Nut D. | None of the above
ol AotiHiell W WictIs wiel sa B2
.| A A B. |3es
C. |lae D. | Gurqu slsual o
Ariveted jointisa............. fastening.
3. | A. | Permanent B. | Temporary
C. |BothAandB D. | None of the above
AaAzs Ae ........ Wus ©.
3. | A | sl gowl
C. luaAua B D. | Guzetl lsual 1@
The included angle for the acme thread is
4. |A. |29 B. |35°
C. |55° D. | 60°
AUsH (2l Hieoll vlgeall wRl
¥. | A |Ree 3W°
C. L{l-{o D Soo
The washer is generally specified by its ............ ..
5. | A. | Outer diameter B. | Hole diameter
C. | Thickness D. | Mean diameter
A2k W12 et VRSBt Aol ...... gL elaua 8.
U [ A ] selRell el B. | 8letall cauat
C. |ostes D. | 1ot caut
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A file removes the metal during..............

6. | A. | Forward stroke B. | Return stroke
C. | Both forward and return stroke D. | None of the above
SIS ... eRallot Ulq §R 52 O.

s. |A | 8Ras ¥s e Rs
C. | Qa8 A Aleod 2s D. | Guzell lsual«R

Shape of Allen key spanner is.......

7. | A L-shape B. O-shape
C. U-shape D. S-shape
Aot 8l Ulotiol WISIR ............. alud.

9. | A | s B. | 0 -aus2
C. U -asR D. | s -aus12

Spur gear is used to connect ........ shafts

8. |A. | Parallel B. | Perpendicular
C. | Inclined D. | All of the above
AR olaRell BUAat ........... ALSA HIScl Hie Al 8.

C. UHAR B. | siayd
C. | Al D. | GuRell ot o
Which of the following is not a pipe fitting?

9. | A. | Coupling B. | Elbow
C. | Rivet D. | Union
(LAt il ] weSu 121t olell?

c. |A | sucllal B. | Al
C. [dae D. | yofllatet
Electric motor and generator are connected by following.

10. | A. | Bearing B. | Coupling
C. | Belt D. | Chain
o{lAell gl SASELS 2R Ve wot2R HslA B.

0. ARl B. | sucloL
Ace D. | agat
The cross-section of a chisel is usually...............

11. | A. | Rectangular B. | Square
C. | Hexagonal D. | Octagonal
Y BcAA HI2 AL 51U AUt ... sl .

. | A | dold B. | A
C. | wesu D. | 2Qse1ollstet
A hacksaw blade cuts on the............

12. | A. | Forward stroke B. | Return stroke
C. | Both Forward and Return stroke | D. | None of the above
35U 6AS ................. gR2ulet 51U B.

R, | A SRas Ws JELEDE
C. | flra§ wal el s ua D. | Gurel sleual «1@

2/11




Which of the following is a power transmission device?

13. | A. | Beltdrive B. | Chaindrive
C. | Gear drive D. | All of the above
o{l Aottt 53 waR gilatst gteSa &2
3. [A | dee gl8a Aot gLt
C. | ollaR g5 D. | GuRell ettt o
V-belts are usually used for................
14. | A. | Longdrives B. | Short drives
C. | Long and Short drives D. | None of the above
V-2 HIE M .................... He Gualol a8,
. | A aioll glga B. | ¢4l sl
C. | dioll mal g8l s185al D. | Guzet Slsugt o3
When the axes of the first and last wheels are co-axial, then the train is known as
15. A. | Simple gear train B. | Compound gear train
C. | Reverted gear train D. | Epicyclic gear train
¥ USCL W DEAl cSlctoll (A Sl-H(@A slA U 2ot ... sdcllA 8.
W | A gl oR 38t B | s1uGs ollatR 285t
C. | AaBs ollauR 2e5at D. | sllauasclls ollatR 25t
.............. gear train is mostly used in clocks.
16. | A. | Simple B. | Compound
C. | Epicyclic D. | Reverted
(Sl W2 eud ... ola1R 2atall GUlloL Al B.
1s. AULEL B. | s1uGs
Aes D. | sllaisclls
The size of a gear is usually specified by ..............
17. | A. | Pressure angle B. | Circular pitch
C. | Diametral pitch D. | Pitch circle diameter
oflaRe HIU ... o3 RARSSS A B.
9. QR Aot B | asdetr Ulu
NEREICRIIE D. | Wl ubet staurlle?
The efficiency of transmitting power will be maximum in case of ..............
18. | A. | Chain drive B. | Open belt drive
C. | V-beltdrive D. | Rope drive
uleR elaHlElol Algllaiall HedH .......... SUHL 63
. [A | A g8 B. | AQudt Aee glsa
C. |v_Qe si8a D. | Qu sissa
A simple gear train is one which each shaft carries............
19. | A. | One wheel B. | Two wheels
C. | Three wheels D. | Four wheels
ALEL (2R 2ot B & BUL €8 WS UR ..., gl lau ©.
Qc.
A | Qs e B. | & et
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C. |2 cdla

D.

AR csled

The gear train used for large speed reduction, where space is limited, is.............

20. | A. | Simple B. | Compound
C. | Epicyclic D. | All of the above
o2l ool HalllE d Sl U dulR BsU ealscll HI2 ... olaR 2atall
GuRloL A 8.
R0. -
AL augl B. | s1u@s
C. | sllauascls D. | Gurett ottt o
The operation of bending a sheet of metal along a curved axis, is known as..............
21. | A. | Plunging B. | Notching
C. | Slitting D. | Forming
anisalofl AU UR Uldal clois AUl HIZ salHL ALl st ........... 58 ©.
24, wio(lal B. | llallat
C. | elldlal D. | gallat
Which of the following is a machining process?
22. | A. | Welding B. | Turning
C. | Brazing D. | Soldering
o(lAst il 5¢5 1allollor yslau 2
X3 Aol B. | 2oflot
C. | aBha D | dles Aot
Which one of the following is a remedy to avoid accidents?
23. | A. | Wear safety shoes B. | Wear proper clothes
C. | Knowledge of safety rules D. | All of the above
ol AotiHiell 53] WMl [Acual 12 Gu(l &2
3. A8l of2 ugal B. | cata®@ct susi ugal
C. | dctncdlott Qo] stiot D. | Guretl sl
Which of the following is the cold working process?
24. | A. | Coldrolling B. | Hotrolling
C. | Welding D. | Casting
o(lAsHiell 585 sles alsol ysglau &2
Y. | A | les Al B. | 8le Al
C. la@at D. | sizdlal
Hot working is carried out .............. recrystallisation temperature.
25. | A. | above B. | below
C. |equalto D. | None of the above
8le aslol Yot 252150 lluMlol 5l .............. AlUHLal sRcllHl A B.
U | A | GuRell B. | ot
C. | 1w D. | Guzel lsual @
Which of the following material can be used for making patterns?
26. | A. | Aluminium B. | Wax
C. | Lead D. | All of the above
5. | ollActmiell s Ul3lauctall GuAL V2ol tlollelall HiS Ul &2
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AcyARan B. | aa
C. lels D. | Gurett sttt o
Which of the following is not a step of casting process?
A. | Pattern making B. | Coining
C. | Mould and core making D. | Melting and pouring
(LAt il 5 U 512101 yslauatl euot o1efl?

X} REER(ERT B. | s1&5e{lat
C. ] 1lles ual 512 Aot D. | Acdlot ma WREat
Which one of the following is cause of accidents ?

28. | A. | Accurate machine B. | Faulty electric wiring
C. | Machine drive with guard D. | All of the above
(LAl 53 UsULA] 5120 B?

RC. AR H2llet vl gasgls ctalol

oS WA Hellat gLt D. | Guretl st o
The grinding operationisa...........

29. | A. | Forming B. | Dressing
C. | Surface finishing operation D. | Shaping
.............. AULESSToL AUR et B

Re. 86TaL B. | 3Rl
Co | B Bollallor 20 udatet D. | Al
Which of the following is a metal joining process?

30. | A. | Machining B. | Milling
C. | Gas cutting D. | Welding
(LAl 58 tuld Bsclell yslau 82

30. He(lo{lal B. | 1ot
C. | sdla D. | a@&@at
Most of the oxy-acetylene welding is done with........

31. | A. | Neutral flame B. | Oxidising flame
C. | Carburising flame D. | All of the above
2 el AUEA- AR At AXot .......... ol .

34. o2 el U sAsLS Aol

sl AL D | GuRell sttt o
The maximum flame temperature occurs........
32 A. | At the outer cone B. | Atthe inner cone
" | C. | Between the outer and inner D. | Atthe torch tip
cone
HEaH WA AlUHLe ......... Geald B.

32, | A | Ber SlelwR ol Slot UR
C. | a2 UA So1? Slot D. 2l dluue
The oxygen cylinder is usually painted with................

33. | A. | Black colour B. | White colour
C. | Maroon colour D. | Yellow colour
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U sA%ot AAS W2 @ .............. ol Sl B,

33. [A | stouRat B. | u¥e 201
C. | u3q 201 D. | Wou 201
Neutral flame is used toweld ................

34. | A. | Steel B. | Castiron
C. | Copper D. | All of the above
o2 el ctoll GUAL......... oll AesloL HI2 L .

3%. | A | @l B. | size a2l
C.laue D. | Gurett ottt o
In arc welding the electric arc is produced between the work and the electrode by

35. | A. | Voltage B. | Flow of current
C. | Contact resistance D. | All of the above
LS AR ML FASELS s cUf WA FASAS A ... ad Geust Al B.

3u. | A | Ay B. | sl als 522
C. | sRse 2R D. | Guretl sl o
Acetylene gas is stored in cylinders in..............

36. | A. | Solid form B. | Gaseous form
C. | Liquid form D. | Any one of the above
A Alet A, RUASRHI ... Ui AoLs wA B.

36, | A | ol a3U B. | atgy a3y
C. | yadl xa3u D. | Guzuigll 818 uaL As
The consumable electrode is used in.............

37. | A. | Carbon arc welding B. | Submerged arc welding
C. | TIG arc welding D. | MIG arc welding
$§RYNUA SASS GUAL ........... AU D

39, | A | stolet 215 Acslol B. | donef’s aud Aeslol
C. | TIG 21 Acslol D. | MIG 215 Acsloal
The brass and bronze are welded by ............... flame.

38. | A. | Neutral B. | Oxidising
C. | Carburising D. | All of the above
WL A o] AGSIOL ... ol d.

3¢. |A | Yot B. | 2515l
C. | stefuesaflat D. | Guretl sttt o
Which colour hose pipe is connected to acytylene cylinder?

39. |A. |Red B. | Black
C. | Green D. | White
sall R0Lall Sl WeUeall GuoL AR{E Alot Al cAllos 1 e 82

3¢, | A | ad slou
C.lellen D. | ude
In the soldering process, filler metal nameiis ..............

40. | A. | Spelter B. | Flux
C. | Electrode D. | Solder
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AlesoL yslauui sler Aedej ol ... )

¥o. | A | Ace? B. | sctat
C. | sasals D. | Aesz
A closed vessel made of steel and used for generation of steam from water above

41 atmospheric pressure iscalled a ..............

" | A. | Steam boiler B. | Steam turbine
C. | Steam condenser D. | Steam injector
Bleto(l ol cll it wellHiell 1M slottatall M2 clclaRRllA EMIRL Sl AuUlR
E0URL SRl Gl WA <o 58 9.

¥q.

A | EH ASAR B. | ¥lu culleSet
C.o 8l s3uR D. | @lu 8522
Which of the following is a fire tube boiler?

42. | A. | Lancashire boiler B. | Babcock and Wilcox boiler
C. | Yarrow boiler D. | None of the above
(LAt 53 LR 2ol AR B2

¥2. ABauAR B | Qoisls ual lctslet AgeR
C. A AR D. | Guzell lsual«R
Which of the following is a water tube boiler?

43. | A. | Lancashire boiler B. | Babcock and Wilcox boiler
C. | Locomotive boiler D. | Cochran boiler
ol Aot il 5 AleR Yol ASUR B?

¥3. [ A | ABauaR dger Aosls Al lctslet SR
C. | Asldla AR D. | Sluret cdlSet?

Fire tube boilers are...........
44 A. | Internally fired B. | Externally fired
" | C. | Internally as well as Externally D. | None of the above
fired
$lAR Y YR ............. 8.

¥Y¥. Seacll s1as Aeealdl slas
C. | Seolcll wd Aateolell tad | P | Gurett Slyuatai
Water tube boilers are.................

45 A. | Internally fired B. | Externally fired

" | C. | Internally as well as Externally D. | None of the above
fired
dleR Yol SR ............ )

¥u. | A | Beolcll sas Agreolcll saus
C. | Seolcll i Aeteolcll g8 | Do | Gurotl slsugL i@

The water tubes in a simple vertical boiler are............

46. | A. | horizontal B. | vertical
C. | inclined D. | None of the above
Auct adlse AASARHL WRllell stollA ... el .

¥S.

A sl B. | Glell
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C. | all D. | Guzell Slsual«1R
Lancashire boiler has .................... internal flue tubes

47. | A. | One B. | Two
C. | Three D. | Four
ABWA ASAR ............ feold 56y 2Yoll sl .

¥9. | A | As B. &

C 2w D | R
Which of the following is not a boiler mounting?

48. | A. | Blow of cock B. | Feed check valve
C. | Economiser D. | Fusible plug
o(lAstHiell 58 Gl HIGEoL o122

¥C. ocll A 5\s B. | gls As alcal

& SlolHLES 23R D. | seyofleict wtal
The number of water level indicators in a boiler are generally ................ in number.

49. | A. | One B. | Two
C. | Three D. | Four
ASAML 2R Add SoslEe: AMeA A ................ ool 8la B,

¥e. As B. &
C. | aul D. | a2
Which of the following are boiler accessories?

50. | A. | Economiser B. | Superheater
C. | Both Aand B D. | None of the above
(LAt 58 A AAUNR &2

4o. Sl HIES 23R B. | yuréle?
C.luaAuaB D. | Gurstt Slesug i@
Which of the following is not an automobile?

51. | A. | Motor cycle B. | Passenger car
C. | Aeroplane D. | Truck
(LAt Ui 5 HNAXNUSAH otell?

ug. | A | leRase QAR 512
C. | At D. |es
The petrol engine works on.........

52. | A. | Otto cycle B. | Carnot cycle
C. | Diesel cycle D. | Rankine cycle
QA Aot ... U st 52 B.

uR. | A [0 wasa stetle UlASA
C. Sl ULRUSEAH D. 351e5ol ALASA
The Diesel engine works on.............

53. | A. | Otto cycle B. | Carnot cycle
C. | Diesel cycle D. | Rankine cycle
SARA ARt ............... uR st 52 B.

us3.

A 02l use B. | stelle uase
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C. | et st D. | 351650t utause
The petrol engines are also known as..............

54. | A. | S.I. engines B. | C.I. engines
C. | Steam engines D. | None of the above
A Ao ... 313 el .

wy. | A | sl ARst B. | .1 A®et
C. | B ARt D. | Guzell lsual«R
The compression ratio of a petrol engine is nearly.................

55. |A. |41 B. |81
C. |15:1 D. |20:1
Q2lA A(Retoll st 2200 ... o{l %5 SlaL B

uu, [A ¥ ¢:a
C.olaua D. 1 20:q
In petrol engines, during suction stroke, ............... is drawn in the cylinder.

56. | A. | Airand fuel B. | Only fuel
C. | Only air D. | None of the above
VA W BoAHl UsUt 215 £ RUASHL ... ELUE AL B,

us. | A | sl AU slrdnl B. | 5 stonclaL
C. | gsc ocll D. | Guzell lsual @

In Diesel engines, during suction stroke, ............... is drawn in the cylinder.

57. | A. | Airand fuel B. | Only fuel
C. | Only air D. | None of the above
Sl A(BAHl AsUet 2215 €N Ut RQUASR/HL ... ELHUCE AU D.

wo. | A | sal el sl B. | g5l st
C. | s sall D. | GuReu Slsual o
Instead of valves, the ports are used in case of ...............

58. | A. | Four stroke I.C. engines B. | Two stroke I.C. engines
C. | V-6 engines D. | None of the above
............... Ui aleato{l oA WeHsll UL Al B,

uc. A2 225 . Al AR B. | 2 22ls 2. Al AR

V-6 W(Ret D. | GuRell Slsual «i@
The theoretically correct mixture of air and petrol is.............

59. |A. |10:1 B. |151
C. [20:1 D. | 251
Auilds A sall WA GlldRle] YHIEL ............ el .

ue. | A | 10:1 W:q
C. 120 D. | 2u:q
Diesel as compared to petrol is

60. | A. | Highly ignitable B. | More difficult to ignite
C. | Less difficult to ignite D. | None of the above
Sl WA 5l

SO- FA. B.

aulR esotolld ala ®.

£80l Sl HI AUl A3

9/11




C. | €dot 5l HI WY WU D. | Guzell Slsual«1R

For 450 m head of water ................. shall be used.
61. | A. | Pelton wheel B. | Kaplan turbine

C. | Francis turbine D. | None of the above

¥Uo Ml sl s U2 ............... ol GUaloL W B.
Sa. A. pletl Célc't B. $\elol 2olleSat

C. | sixlld ecileSot D. | Guzell lsual«R

Which of the following pump is used for small discharge and high heads?
62. | A. | Centrifugal pump B. | Axial flow pump

C. | Mixed flow pump D. | Reciprocating pump

o{lAottHiell saul Vsl GUA0L AL SlRAULS Wl cAUlR &S HIS AL B?
s2. [A | Alsyole uu B. | Q@ sl uu

C. | allses sl Uy D. | 2R3l iy

Which of the following pump is successfully used for lifting water from deep walls?
63. | A. | Centrifugal pump B. | Reciprocating pump

C. | Jet pump D. | Air lift pump

ol Al sall Uusll Gualol st geuHiell usaciell well stacl s 82
s3. | A | Adlsyolet uu B. | 2R3 iy

C. | ®euy D. 12 ellge uu

Which device is used to lift larger load by the application of a much smaller load?
64. | A. | Hydraulic press B. | Hydraulic ram

C. | Hydraulic intensifier D. | Hydraulic coupling

53 Altot AL ALl GUAIL s3] AR A dlge 31 asia 82
s¥. | A | slafl@s Y B. | sla@s u

C. | sa@s sEdlstar D. | stagl@s suellol

Which of the following is not a hoisting equipment?
65. | A. | Lift B. | Jack

C. | Conveyor D. | Truck

(LAt Hiel 5 SleSEoL ULtat o1&l
su. [A | cllse B. |35

C. | s D. |es

Belt conveyer is used to transfer material for ...............
66. | A. | Long distance B. | Small distance

C. | Both Aand B D. | None of the above

A AU GUL ........... A cdgatl M2 Ul B
ss. [A | auR dd? B. | et 2R

C. ladAuB D. | Guret lesuaL o3

Following of which equipment is used for digging of land?
67. | A. | Power shovel B. | Bridge crane

C. | Grid roller D. |Jack

o{l Aot il saul ULUatoll HISloll gates HIS GuAoL Ul 2
S9.

Al yaR MAe

B.

oflos 3¢5t
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C. |ofls et

Which type of hydraulic device is used in multi store building ?

68. | A. | Hydraulic lift B. | Hydraulic press

C. | Pneumatic press D. | None of the above

52Ul Ysle] sLAINAS Altotoll Guallol Hedl 2R olleslowmi e &2
sC. slA@s cllse B. | stad@s Y

C. | yndls D. | Gursu sleuat -3

Which of the following is a earth moving machinery?
69. | A. | Screw conveyer B. | Bull dozer

C. | Elevator D. | Fork lift

s{lAatmiell s¢5 el ycllow uelletdl &2
se. | A g sdar B. | yeadlon2

C. la@aez D. | 95@se

Material handling equipments are used to transfer material in .......... direction
70. | A. | Horizontal B. | Vertical

C. | Inclined D. | All of the above

Heldlaa gscllol Alusllatl Gualol Héllad. ............ (2 Ui cset HIZ 2 82
90. L3l B. | Gell

C.o | aiall D. | Gurett sttt
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